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QUESTION 1

You are designing a new VDC and are planning to use iSCSI for storage connectivity from the hypervisors. The network
infrastructure is 10 Gigabit Ethernet, and the storage system can support multiple NICs. 

Your networking design on the storage system must provide the highest level of performance, security, and fault
tolerance. 

What should you recommend? 

A. Bond the NICs together and connect them to different aggregation layer switches.Configure a separate VLAN for the
iSCSI traffic. 

B. Leave the NICs independent and connect them to different aggregation layer switches. Configure a separate VLAN
for iSCSI traffic on each NIC. 

C. Bond the NICs together and connect them to different access layer switches. Configure a separate VLAN for the
iSCSI traffic. 

D. Leave the NICs independent and connect them to different access layer switches. Configure a separate VLAN for
iSCSI traffic on each NIC. 

Correct Answer: A 

 

QUESTION 2

In addition to encryption, which techniques represent risk mitigation? 

A. Two-factor authentication, role separation 

B. Two-factor authentication, privacy assessment 

C. Role separation, ISO 27002 assessment 

D. PCI compliance, hardened VMs 

Correct Answer: A 

 

QUESTION 3

How can a hypervisor virtual switch increase the efficiency of a physical network? 

A. By consolidating ports into the physical network 

B. By reducing the amount of data transmitted to the physical network 

C. Through port aggregation to isolate VMs to another VLAN 

D. By increasing the bandwidth of the physical network 

Correct Answer: B 
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QUESTION 4

An enterprise has several line of business applications that exist as separate islands of data and functionality. The
enterprise now needs to share data across these applications to automate business practices. 

What does the organization need to implement? 

A. EAI 

B. SAS 

C. GRC 

D. L2TP 

Correct Answer: A 

 

QUESTION 5

A. Disaster recovery 

B. Information security 

C. Management 

D. Business 

Correct Answer: B 
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